o(d dxy) (cm)

Ratio
3

||||||||||||||||||||||||||||||||
v

3 2 1 0 1 2 3

o(d dz) (cm)

1072

Ratio
F

=

||||||||||||||||||||||||||||||||
vo

........................................................................

0.950

—=— DQMstep3_SoftQCD_CKF
—e— DQMstep3_SoftQCD_default

—— DQMstep3_SoftQCD_ckfPixelLess

..........................................................................

Ratios

0.95L

3T 0 1 23

TP ® (PCA to beamline)

o p_/p.)

QG%

......................................................................

Ratios
H

0.954

;%Tﬁﬁ Tf*ﬂf%' +f.f++.%f Tt

—3—'2—101éé

TP ® (PCA to beamline)



	Contents
	Page 1


